# Convolution Properties for Subclasses of Meromorphic Univalent Functions of Complex Order 

Teodor Bulboacă, Mohamed K. Aouf, and Rabha M. El-Ashwah

$$
\begin{aligned}
& \text { Abstract } \\
& \text { Using the new linear operator } \\
& \qquad \mathcal{L}^{m}(\lambda, l) f(z)=\frac{1}{z}+\sum_{k=1}^{\infty}\left(\frac{l}{l+\lambda k}\right)^{m} a_{k} z^{k-1}, \quad f \in \Sigma,
\end{aligned}
$$

where $l>0, \lambda \geq 0$, and $m \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$, we introduce two subclasses of meromorphic analytic functions, and we investigate several convolution properties, coefficient inequalities, and inclusion relations for these classes.

## 1 Introduction

Let $\Sigma$ be the class of functions of the form

$$
\begin{equation*}
f(z)=\frac{1}{z}+\sum_{k=1}^{\infty} a_{k} z^{k-1} \tag{1}
\end{equation*}
$$

which are analytic in the punctured unit disc $\mathrm{U}^{*}=\mathrm{U} \backslash\{0\}$, where $\mathrm{U}=\{z \in \mathbb{C}:|z|<$ $1\}$. For the functions $f \in \Sigma$ of the form (1) and $g \in \Sigma$ given by $g(z)=\frac{1}{z}+\sum_{k=1}^{\infty} b_{k} z^{k-1}$, the Hadamard (or convolution) product of $f$ and $g$ is defined by

$$
(f * g)(z)=\frac{1}{z}+\sum_{k=1}^{\infty} a_{k} b_{k} z^{k-1}
$$

For $\lambda \geq 0, l>0$, and $m \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$, El-Ashwah [6] and El-Ashwah and Aouf (see [8] and [9]) defined the linear operator $\mathrm{I}^{m}(\lambda, l): \Sigma \rightarrow \Sigma$ by

$$
\mathrm{I}^{m}(\lambda, l) f(z)=\frac{1}{z}+\sum_{k=1}^{\infty}\left(\frac{l+\lambda k}{l}\right)^{m} a_{k} z^{k-1}
$$

where $f$ has the form (1). We note that $\mathrm{I}^{0}(\lambda, l) f(z)=f(z)$ and $\mathrm{I}^{1}(1,1) f(z)=$ $\left(z^{2} f(z)\right)^{\prime} / z=2 f(z)+z f^{\prime}(z)$, and by specializing the parameters $\lambda$, $l$, and $m$, we obtain the following operators studied by various authors:
(i) $\mathrm{I}^{m}(1, l) f(z)=: \mathrm{D}_{l}^{m} f(z)$, (see Cho et al. [3], [4]);
(ii) $\mathrm{I}^{m}(\lambda, 1) f(z)=: \mathrm{D}_{\lambda}^{m} f(z)$, (see Al-Oboudi and Al-Zkeri $[1]$ );
(iii) $\mathrm{I}^{m}(1,1) f(z)=: \mathrm{I}^{m} f(z)$, (see Uralegaddi and Somanatha [15]).

Definition 1. For $\lambda \geq 0, l>0$, and $m \in \mathbb{N}_{0}$, we will define the dual operator $\mathcal{L}^{m}(\lambda, l): \Sigma \rightarrow \Sigma$,

$$
\mathcal{L}^{m}(\lambda, l) f(z)=\frac{1}{z}+\sum_{k=1}^{\infty}\left(\frac{l}{l+\lambda k}\right)^{m} a_{k} z^{k-1}
$$

where $f$ is given by (1).
Denoting by $\Psi^{m}(\lambda, l)(z)=\frac{1}{z}+\sum_{k=1}^{\infty}\left(\frac{l}{l+\lambda k}\right)^{m} z^{k-1}$, it is easy to verify that

$$
\begin{gather*}
\mathcal{L}^{m}(\lambda, l) f(z)=\Psi^{m}(\lambda, l)(z) * f(z)  \tag{2}\\
\lambda z\left(\mathcal{L}^{m+1}(\lambda, l) f(z)\right)^{\prime}=l \mathcal{L}^{m}(\lambda, l) f(z)-(l+\lambda) \mathcal{L}^{m+1}(\lambda, l) f(z), \tag{3}
\end{gather*}
$$

and

$$
\mathcal{L}^{m}(\lambda, l) f(z)=\underbrace{\mathcal{L}^{1}(\lambda, l)\left(\frac{1}{z(1-z)}\right) * \ldots * \mathcal{L}^{1}(\lambda, l)\left(\frac{1}{z(1-z)}\right)}_{m \text { times }} * f(z)
$$

We note that $\mathcal{L}^{\alpha}(1, \beta) f(z)=: P_{\beta}^{\alpha} f(z), \quad \alpha>0, \beta>0$ (see Lashin [10]).
If $f$ and $g$ are two analytic functions in U , we say that $f$ is subordinate to $g$, written symbolically as $f(z) \prec g(z)$, if there exists a Schwarz function $w$, which (by definition) is analytic in U , with $w(0)=0$, and $|w(z)|<1$ for all $z \in \mathrm{U}$, such that $f(z)=g(w(z))$. Furthermore, if the function $g$ is univalent in U , then we have the following equivalence, (cf., e.g., [11], see also [12, p. 4]):

$$
f(z) \prec g(z) \Leftrightarrow f(0)=g(0) \text { and } f(\mathrm{U}) \subset g(\mathrm{U})
$$

Definition 2. For $-1 \leq B<A \leq 1$, and $b \in \mathbb{C}^{*}=\mathbb{C} \backslash\{0\}$ we define two subclasses of the class $\Sigma$ as follows:

$$
\begin{equation*}
\Sigma S^{*}[b ; A, B]=\left\{f \in \Sigma: 1-\frac{1}{b}\left(1+\frac{z f^{\prime}(z)}{f(z)}\right) \prec \frac{1+A z}{1+B z}\right\} \tag{4}
\end{equation*}
$$

and

$$
\Sigma K[b ; A, B]=\left\{f \in \Sigma: 1-\frac{1}{b}\left(2+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right) \prec \frac{1+A z}{1+B z}\right\} .
$$

We emphasize that in the above definitions, both of the functions that appeared in the left-hand side of the subordinations are regular in the point $z_{0}=0$. Also, it is easy to check the duality formula

$$
\begin{equation*}
f \in \Sigma K[b ; A, B] \Leftrightarrow-z f^{\prime}(z) \in \Sigma S^{*}[b ; A, B], \tag{5}
\end{equation*}
$$

while some special cases of these classes was studied by different authors:
(i) $\Sigma S^{*}[b ; 1,-1]=: \Sigma S(b)$, with $b \in \mathbb{C}^{*}$, (see Aouf [2]);
(ii) $\Sigma K[b ; 1,-1]=: \Sigma K(b)$, with $b \in \mathbb{C}^{*}$, (see Aouf $[2]$ );
(iii) $\Sigma S^{*}[1 ;(1-2 \alpha) \beta,-\beta]=: \Sigma S[\alpha, \beta]$, with $0 \leq \alpha<1,0<\beta \leq 1$, (see El-Ashwah and Aouf [7]);
(iv) $\Sigma K[1 ;(1-2 \alpha) \beta,-\beta]=: \Sigma K[\alpha, \beta]$, with $0 \leq \alpha<1,0<\beta \leq 1$, (see El-Ashwah and Aouf [7]);
(v) $\Sigma S^{*}\left[(1-\alpha) e^{-i \mu} \cos \mu ; 1,-1\right]=: \Sigma S^{\mu}(\alpha)$, with $\mu \in \mathbb{R},|\mu| \leq \pi / 2,0 \leq \alpha<1$, (see [14] for $p=1$ );
(vi) $\Sigma K\left[(1-\alpha) e^{-i \mu} \cos \mu ; 1,-1\right]=: \Sigma K^{\mu}(\alpha)$, with $\mu \in \mathbb{R},|\mu| \leq \pi / 2,0 \leq \alpha<1$, (see [14] for $p=1$ ).
Considering $\mu \in \mathbb{R}$ with $|\mu| \leq \pi / 2,0 \leq \alpha<1$, and $0<\beta \leq 1$, for the special cases $b=e^{-i \mu} \cos \mu, A=(1-2 \alpha) \beta$, and $B=-\beta$ we will use the notations

$$
\begin{aligned}
& \Sigma S^{\mu}[\alpha, \beta]:=\Sigma S^{*}\left[e^{-i \mu} \cos \mu ;(1-2 \alpha) \beta,-\beta\right] \\
& \Sigma K^{\mu}[\alpha, \beta]:=\Sigma K\left[e^{-i \mu} \cos \mu ;(1-2 \alpha) \beta,-\beta\right]
\end{aligned}
$$

Definition 3. For $\lambda \geq 0, l>0, m \in \mathbb{N}_{0}$, and $-1 \leq B<A \leq 1$, using the linear operator $\mathcal{L}^{m}(\lambda, l)$ we define two subclasses of the class $\Sigma$ as follows:

$$
\begin{equation*}
S_{\lambda, l}^{*}[m ; b ; A, B]=\left\{f \in \Sigma: \mathcal{L}^{m}(\lambda, l) f \in \Sigma S^{*}[b ; A, B]\right\} \tag{6}
\end{equation*}
$$

and

$$
\begin{equation*}
K_{\lambda, l}[m ; b ; A, B]=\left\{f \in \Sigma: \mathcal{L}^{m}(\lambda, l) f \in \Sigma K[b ; A, B]\right\} . \tag{7}
\end{equation*}
$$

Lemma 1. The following duality formula between the above defined classes holds:

$$
\begin{equation*}
f \in K_{\lambda, l}[m ; b ; A, B] \Leftrightarrow-z f^{\prime}(z) \in S_{\lambda, l}^{*}[m ; b ; A, B] . \tag{8}
\end{equation*}
$$

Proof. According to the definition formula (7), we have that $f \in K_{\lambda, l}[m ; b ; A, B]$ if and only if $\mathcal{L}^{m}(\lambda, l) f \in \Sigma K[b ; A, B]$, and from (5) this last relation is equivalent to $-z\left(\mathcal{L}^{m}(\lambda, l) f(z)\right)^{\prime} \in \Sigma S^{*}[b ; A, B]$. Using the representation (2) we deduce the equalities

$$
\begin{gathered}
-z\left(\mathcal{L}^{m}(\lambda, l) f(z)\right)^{\prime}=-z\left(\Psi^{m}(\lambda, l)(z) * f(z)\right)^{\prime}= \\
\Psi^{m}(\lambda, l)(z) *\left(-z f^{\prime}(z)\right)=\mathcal{L}^{m}(\lambda, l)\left(-z f^{\prime}(z)\right),
\end{gathered}
$$

hence $\mathcal{L}^{m}(\lambda, l)\left(-z f^{\prime}(z)\right) \in \Sigma S^{*}[b ; A, B]$, so the definition formula (6) yields that $-z f^{\prime}(z) \in S_{\lambda, l}^{*}[m ; b ; A, B]$.

Supposing $\mu \in \mathbb{R}$ with $|\mu| \leq \pi / 2,0 \leq \alpha<1$, and $0<\beta \leq 1$, for the special cases $b=e^{-i \mu} \cos \mu, A=(1-2 \alpha) \beta$, and $B=-\beta$ in (6) and (7), we will use the notations

$$
\begin{gathered}
S_{\lambda, l}^{*}(m ; \mu ; \alpha, \beta):=S_{\lambda, l}^{*}\left[m ; e^{-i \mu} \cos \mu ;(1-2 \alpha) \beta,-\beta\right]= \\
\left\{f \in \Sigma: \mathcal{L}^{m}(\lambda, l) f \in \Sigma S^{\mu}[\alpha, \beta]\right\}
\end{gathered}
$$

and

$$
\begin{gathered}
K_{\lambda, l}(m ; \mu ; \alpha, \beta):=K_{\lambda, l}\left[m ; e^{-i \mu} \cos \mu ;(1-2 \alpha) \beta,-\beta\right]= \\
\left\{f \in \Sigma: \mathcal{L}^{m}(\lambda, l) f \in \Sigma K^{\mu}[\alpha, \beta]\right\} .
\end{gathered}
$$

Note that many important properties of several subclasses of meromorphic univalent functions were studied by several authors. In this paper we will investigate convolution properties, coefficient inequalities, and inclusion relations for the subclasses we defined above.

## 2 Main results

We assume throughout this section that $0 \leq \theta<2 \pi, b \in \mathbb{C}^{*}$, and $-1 \leq B<A \leq 1$.
Theorem 1. If $f \in \Sigma$, then $f \in \Sigma S^{*}[b ; A, B]$ if and only if

$$
\begin{equation*}
z\left[f(z) * \frac{1+(C-1) z}{z(1-z)^{2}}\right] \neq 0, z \in \mathrm{U} \tag{9}
\end{equation*}
$$

for all $C=C_{\theta}=\frac{e^{-i \theta}+B}{(A-B) b}, \theta \in[0,2 \pi)$, and also for $C=0$.
Proof. It is easy to check that the relations

$$
\begin{equation*}
f(z) * \frac{1}{z(1-z)}=f(z), f(z) *\left[\frac{1}{z(1-z)^{2}}-\frac{2}{(1-z)^{2}}\right]=-z f^{\prime}(z) \tag{10}
\end{equation*}
$$

hold for all $z \in \mathrm{U}^{*}$, and for any function $f \in \Sigma$.
(i) To prove the first implication, if $f \in \Sigma S^{*}[b ; A, B]$ is an arbitrary function, from (4) we have

$$
\begin{equation*}
-\frac{z f^{\prime}(z)}{f(z)} \prec \frac{1+[B+(A-B) b] z}{1+B z} \tag{11}
\end{equation*}
$$

Since the function from the left-hand side of the subordination is analytic in $U$, it follows that $f(z) \neq 0$ for all $z \in \mathrm{U}^{*}$, i.e. $z f(z) \neq 0, z \in \mathrm{U}$, and using the first identity of (10), this is equivalent to the fact that (9) holds for $C=0$.

From (11), according to the definition of the subordination, there exists a function $w$ analytic in U , with $w(0)=0$, and $|w(z)|<1, z \in \mathrm{U}$, such that

$$
-\frac{z f^{\prime}(z)}{f(z)}=\frac{1+[B+(A-B) b] w(z)}{1+B w(z)}, z \in \mathrm{U}
$$

hence it follows

$$
\begin{array}{r}
z\left[-z f^{\prime}(z)\left(1+B e^{i \theta}\right)-f(z)\left[1+[B+(A-B) b] e^{i \theta}\right]\right] \neq 0  \tag{12}\\
z \in \mathrm{U}, \theta \in[0,2 \pi)
\end{array}
$$

Using the formulas (10), the relation (12) is equivalent to

$$
z\left[f(z) * \frac{1+\left[\frac{e^{-i \theta}+B}{(A-B) b}-1\right] z}{z(1-z)^{2}}(A-B) b e^{i \theta}\right] \neq 0, z \in \mathrm{U}, \theta \in[0,2 \pi)
$$

which leads to (9), and the first part of the Theorem 1 was proved.
(ii) Reversely, because the assumption (9) holds for $C=0$, it follows that $z f(z) \neq 0$ for all $z \in \mathrm{U}$, hence the function $\varphi(z)=-\frac{z f^{\prime}(z)}{f(z)}$ is analytic in U (i.e. it is regular in $z_{0}=0$, with $\varphi(0)=1$ ).

Since it was shown in the first part of the proof that the assumption (9) is equivalent to (12), we obtain that

$$
\begin{equation*}
-\frac{z f^{\prime}(z)}{f(z)} \neq \frac{1+[B+(A-B) b] e^{i \theta}}{1+B e^{i \theta}}, z \in \mathrm{U}, \theta \in[0,2 \pi) \tag{13}
\end{equation*}
$$

If we denote

$$
\psi(z)=\frac{1+[B+(A-B) b] z}{1+B z}
$$

the relation (13) shows that $\varphi(\mathrm{U}) \cap \psi(\partial \mathrm{U})=\emptyset$. Thus, the simply-connected domain $\varphi(\mathrm{U})$ is included in a connected component of $\mathbb{C} \backslash \psi(\partial \mathrm{U})$. From here, using the fact that $\varphi(0)=\psi(0)$ together with the univalence of the function $\psi$, it follows that $\varphi(z) \prec \psi(z)$, which represents in fact the subordination (11), i.e. $f \in \Sigma S^{*}[b ; A, B]$.

Remark 1. (i) Taking in Theorem 1 the special case $b=1$, and $e^{i \theta}=x$, we obtain the result of Ponnusamy [13, Theorem 2.1];
(ii) Taking in Theorem 1 the special case $b=(1-\alpha) e^{-i \mu} \cos \mu$, where $\mu \in \mathbb{R}$, $|\mu| \leq \pi / 2,0 \leq \alpha<1$, and $e^{i \theta}=x$, we obtain the result of Ravichandran et al. [14, Theorem 1.2 with $p=1]$.

Theorem 2. If $f \in \Sigma$, then $f \in \Sigma K[b ; A, B]$ if and only if

$$
z\left[f(z) * \frac{1-3 z-2(C-1) z^{2}}{z(1-z)^{3}}\right] \neq 0, z \in \mathrm{U}
$$

for all $C=C_{\theta}=\frac{e^{-i \theta}+B}{(A-B) b}, \theta \in[0,2 \pi)$, and also for $C=0$.

Proof. If we let $g(z)=\frac{1+(C-1) z}{z(1-z)^{2}}$, then

$$
z g^{\prime}(z)=\frac{-1+3 z+2(C-1) z^{2}}{z(1-z)^{3}}
$$

From the duality formula (5), using the identity

$$
\left[-z f^{\prime}(z)\right] * g(z)=f(z) *\left[-z g^{\prime}(z)\right]
$$

the result follows from Theorem 1.
Remark 2. Putting $b=1$ and $e^{i \theta}=x$ in Theorem 2, this special case will correct the result obtained by Ponnusamy [13, Theorem 2.2].

Theorem 3. Let $\lambda \geq 0, l>0$, and $m \in \mathbb{N}_{0}$. If $f \in \Sigma$ is of the form (1), then $f \in S_{\lambda, l}^{*}[m ; b ; A, B]$ if and only if

$$
\begin{equation*}
1+\sum_{k=1}^{\infty}\left(\frac{l}{l+\lambda k}\right)^{m} a_{k} z^{k} \neq 0, z \in \mathrm{U} \tag{14}
\end{equation*}
$$

and

$$
\begin{equation*}
1+\sum_{k=1}^{\infty} \frac{k e^{-i \theta}+k B+(A-B) b}{(A-B) b}\left(\frac{l}{l+\lambda k}\right)^{m} a_{k} z^{k} \neq 0, z \in \mathrm{U} \tag{15}
\end{equation*}
$$

for all $\theta \in[0,2 \pi)$.
Proof. If $f \in \Sigma$, according to Theorem 1 we have $f \in S_{\lambda, l}^{*}[m ; b ; A, B]$ if and only if

$$
\begin{equation*}
z\left[\mathcal{L}^{m}(\lambda, l) f(z) * \frac{1+(C-1) z}{z(1-z)^{2}}\right] \neq 0, z \in \mathrm{U} \tag{16}
\end{equation*}
$$

for all $C=C_{\theta}=\frac{e^{-i \theta}+B}{(A-B) b}, \theta \in[0,2 \pi)$, and also for $C=0$.
Using the first part of the identities (10), it is easy to see that the above relation holds for $C=0$ if and only if (14) is satisfied.

On the other hand, using the relation

$$
\frac{1+(C-1) z}{z(1-z)^{2}}=\frac{1}{z}+\sum_{k=1}^{\infty}(1+C k) z^{k-1}, z \in \mathrm{U}^{*}
$$

we may easily check that (16) is equivalent to (15), which proves our result.
Theorem 4. Let $\lambda \geq 0, l>0$, and $m \in \mathbb{N}_{0}$. If $f \in \Sigma$ is of the form (1), then $f \in K_{\lambda, l}[m ; b ; A, B]$ if and only if

$$
\begin{equation*}
1-\sum_{k=1}^{\infty}(k-1)\left(\frac{l}{l+\lambda k}\right)^{m} a_{k} z^{k} \neq 0, z \in \mathrm{U} \tag{17}
\end{equation*}
$$

and

$$
\begin{equation*}
1-\sum_{k=1}^{\infty}(k-1) \frac{k e^{-i \theta}+B k+(A-B) b}{(A-B) b}\left(\frac{l}{l+\lambda k}\right)^{m} a_{k} z^{k} \neq 0, z \in \mathrm{U} \tag{18}
\end{equation*}
$$

for all $\theta \in[0,2 \pi)$.
Proof. If $f \in \Sigma$, from Theorem 2 we have that $f \in K_{\lambda, l}[m ; b ; A, B]$ if and only if

$$
\begin{equation*}
z\left[\mathcal{L}^{m}(\lambda, l) f(z) * \frac{1-3 z-2(C-1) z^{2}}{z(1-z)^{3}}\right] \neq 0, z \in \mathrm{U} \tag{19}
\end{equation*}
$$

for all $C=C_{\theta}=\frac{e^{-i \theta}+B}{(A-B) b}, \theta \in[0,2 \pi)$, and also for $C=0$.
Using the relation

$$
\frac{1}{z(1-z)^{2}}=\frac{1}{z}+\sum_{k=1}^{\infty}(k+1) z^{k-1}, z \in \mathrm{U}^{*}
$$

it is easy to see that (19) holds for $C=0$ if and only if the assumption (17) is satisfied.

Now, from the formula

$$
\frac{1}{z(1-z)^{3}}=\frac{1}{z}+\sum_{k=1}^{\infty} \frac{(k+1)(k+2)}{2} z^{k-1}, z \in \mathrm{U}^{*},
$$

we may easily deduce that

$$
\frac{1-3 z-2(C-1) z^{2}}{z(1-z)^{3}}=\frac{1}{z}-\sum_{k=1}^{\infty}(k-1)(1+C k) z^{k-1}, z \in \mathrm{U}^{*}
$$

and a simple computation shows that (19) is equivalent to (18), hence the proof of the theorem is completed.

Theorem 5. Let $\lambda \geq 0, l>0, m \in \mathbb{N}_{0},-1 \leq B<A \leq 1$ and $b \in \mathbb{C}^{*}$. If $f \in \Sigma$ has the from (1) and satisfies the inequalities

$$
\begin{equation*}
\sum_{k=1}^{\infty}\left(\frac{l}{l+\lambda k}\right)^{m}\left|a_{k}\right|<1 \tag{20}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{k=1}^{\infty}[k(1+B)+(A-B)|b|]\left(\frac{l}{l+\lambda k}\right)^{m}\left|a_{k}\right|<(A-B)|b| \tag{21}
\end{equation*}
$$

then $f \in S_{\lambda, l}^{*}[m ; b ; A, B]$.

Proof. According to (20), a simple computation shows that

$$
\begin{aligned}
& \left|1+\sum_{k=1}^{\infty}\left(\frac{l}{l+\lambda k}\right)^{m} a_{k} z^{k}\right| \geq 1-\left|\sum_{k=1}^{\infty}\left(\frac{l}{l+\lambda k}\right)^{m} a_{k} z^{k}\right| \geq \\
& 1-\sum_{k=1}^{\infty}\left(\frac{l}{l+\lambda k}\right)^{m}\left|a_{k}\right|\left|z^{k}\right| \geq 1-\sum_{k=1}^{\infty}\left(\frac{l}{l+\lambda k}\right)^{m}\left|a_{k}\right|>0, z \in \mathrm{U}
\end{aligned}
$$

hence the condition (14) is satisfied.
Using the inequality

$$
\left|\frac{k e^{-i \theta}+B k+(A-B) b}{(A-B) b}\right| \leq \frac{k(1+B)+(A-B)|b|}{(A-B)|b|}
$$

together with the assumption (21), we may easily deduce

$$
\begin{aligned}
& \left|1+\sum_{k=1}^{\infty}\left[\frac{k e^{-i \theta}+B k+(A-B) b}{(A-B) b}\right]\left(\frac{l}{l+\lambda k}\right)^{m} a_{k} z^{k}\right|> \\
& 1-\sum_{k=1}^{\infty}\left|\frac{k e^{-i \theta}+B k+(A-B) b}{b(A-B)}\right|\left(\frac{l}{l+\lambda k}\right)^{m}\left|a_{k}\right| \geq \\
& 1-\sum_{k=1}^{\infty} \frac{k(1+B)+(A-B)|b|}{(A-B)|b|}\left(\frac{l}{l+\lambda k}\right)^{m}\left|a_{k}\right|>0, z \in \mathrm{U}
\end{aligned}
$$

which shows that (15) holds, hence our result follows from Theorem 3.
Using Theorem 4, in the same way we may also prove the next result:
Theorem 6. Let $\lambda \geq 0, l>0, m \in \mathbb{N}_{0},-1 \leq B<A \leq 1$ and $b \in \mathbb{C}^{*}$. If $f \in \Sigma$ has the from (1) and satisfies the inequalities

$$
\sum_{k=1}^{\infty}(k-1)\left(\frac{l}{l+\lambda k}\right)^{m}\left|a_{k}\right|<1
$$

and

$$
\sum_{k=1}^{\infty}(k-1)[k(1+B)+(A-B)|b|]\left(\frac{l}{l+\lambda k}\right)^{m}\left|a_{k}\right|<(A-B)|b|
$$

then $f \in K_{\lambda, l}[m ; b ; A, B]$.
We will discuss two inclusion relations for the classes $S_{\lambda, l}^{*}[m ; b ; A, B]$ and $K_{\lambda, l}[m ; b ; A, B]$. To prove these results we shall require the following lemma:
Lemma 2. [5] Let $h$ be convex (univalent) in U , with $\operatorname{Re}[\beta h(z)+\gamma]>0$ for all $z \in \mathrm{U}$. If $p$ is analytic in U , with $p(0)=h(0)$, then

$$
p(z)+\frac{z p^{\prime}(z)}{\beta p(z)+\gamma} \prec h(z) \Rightarrow p(z) \prec h(z) .
$$

Theorem 7. Let $\lambda>0, l>0$, and $m \in \mathbb{N}_{0}$. Suppose that $b \in \mathbb{C}^{*}$ and $-1 \leq B<$ $A \leq 1$, such that

$$
\begin{equation*}
\frac{\cos (\theta+\arg b)+B \cos (\arg b)}{1+B^{2}+2 B \cos \theta} \leq \frac{l}{|b| \lambda(A-B)}, \theta \in[0,2 \pi) \tag{22}
\end{equation*}
$$

If $f \in S_{\lambda, l}^{*}[m ; b ; A, B]$, with $\mathcal{L}^{m+1}(\lambda, l) f(z) \neq 0$ for all $z \in \mathrm{U}^{*}$, then $f \in S_{\lambda, l}^{*}[m+1 ; b ; A, B]$.

Proof. Suppose that $f \in S_{\lambda, l}^{*}[m ; b ; A, B]$, and let define the function

$$
\begin{equation*}
p(z)=1-\frac{1}{b}\left(1+\frac{z\left(\mathcal{L}^{m+1}(\lambda, l) f(z)\right)^{\prime}}{\mathcal{L}^{m+1}(\lambda, l) f(z)}\right) . \tag{23}
\end{equation*}
$$

Then $p$ is analytic in U with $p(0)=1$, and using the relation (3), from (23) we obtain

$$
\begin{equation*}
-\frac{b \lambda}{l}(p(z)-1)+1=\frac{\mathcal{L}^{m}(\lambda, l) f(z)}{\mathcal{L}^{m+1}(\lambda, l) f(z)} . \tag{24}
\end{equation*}
$$

Differentiating logarithmically (24) and then using (23), we deduce that

$$
\begin{equation*}
p(z)+\frac{z p^{\prime}(z)}{-b p(z)+\left(b+\frac{l}{\lambda}\right)} \prec \frac{1+A z}{1+B z}=: h(z) . \tag{25}
\end{equation*}
$$

A simple calculus shows that the inequality $\operatorname{Re}\left[-b h(z)+\left(b+\frac{l}{\lambda}\right)\right]>0, z \in \mathrm{U}$, may be written as

$$
\operatorname{Re} \frac{b z}{1+B z}<\frac{l}{\lambda(A-B)}, z \in \mathrm{U}
$$

which is equivalent to (22). Since the function $h$ is convex (univalent) in U , according to Lemma 2 the subordination (25) implies $p(z) \prec h(z)$, which proves that $f \in S_{\lambda, l}^{*}[m+1 ; b ; A, B]$.

From the duality formula (8), and using the fact that

$$
\mathcal{L}^{m+1}(\lambda, l)\left(-z f^{\prime}(z)\right)=-z\left(\mathcal{L}^{m+1}(\lambda, l) f(z)\right)^{\prime}
$$

the above theorem yields the following inclusion:
Theorem 8. Let $\lambda>0, l>0$, and $m \in \mathbb{N}_{0}$. Suppose that $b \in \mathbb{C}^{*}$ and $-1 \leq B<$ $A \leq 1$, such that (22) holds.

If $f \in K_{\lambda, l}[m ; b ; A, B]$, with $\left(\mathcal{L}^{m+1}(\lambda, l) f(z)\right)^{\prime} \neq 0$ for all $z \in \mathrm{U}^{*}$, then $f \in K_{\lambda, l}[m+1 ; b ; A, B]$.

Remark 3. (i) Putting in the above results $b=e^{-i \mu} \cos \mu, A=(1-2 \alpha) \beta$ and $B=-\beta$, where $\mu \in \mathbb{R}$ with $|\mu| \leq \pi / 2,0 \leq \alpha<1$, and $0<\beta \leq 1$, we obtain analogous results for the classes $\Sigma S^{\mu}[\alpha, \beta]$ and $\Sigma K^{\mu}[\alpha, \beta]$, respectively;
(ii) By specializing the parameters $\lambda, l$ and $m$, we obtain various special cases for different operators defined in the introduction.

## References

[1] F. M. Al-Oboudi and H. A. Al-Zkeri, Applications of Briot-Bouquet differential subordination to certain classes of meromorphic functions, Arab J. Math. Sci., 12 (2005), no. 1, 1-14.
[2] M. K. Aouf, Coefficient results for some classes of meromorphic functions, J. Natural Sci. Math., 27 (1987), no. 2, 81-97.
[3] N. E. Cho, O. S. Kwon and H. M Srivastava, Inclusion and argument properties for certain subclasses of meromorphic functions associated with a family of multiplier transformations, J. Math. Anal. Appl., 300 (2004), 505-520.
[4] N. E. Cho, O. S. Kwon and H. M. Srivastava, Inclusion relationships for certain subclasses of meromorphic functions associated with a family of multiplier transformations, Integral Transforms Special Functions, 16 (2005), no. 18, 647659.
[5] P. J. Eenigenburg, S. S. Miller, P. T. Mocanu and M. O. Reade, Second order differential inequalities in the complex plane, J. Math. Anal. Appl., 65 (1978), 289-305.
[6] R. M. El-Ashwah, A note on certain meromorphic p-valent functions, Appl. Math. Letters, 22 (2009), 1756-1759.
[7] R. M. El-Ashwah and M. K. Aouf, Hadamard product of certain meromorphic starlike and convex functions, Comput. Math. Appl., 57 (2009), 1102-1106.
[8] R. M. El-Ashwah and M. K. Aouf, Some properties of certain subclasses of meromorphically p-valent functions involving extended multiplier transformations, Comput. Math. Appl., 59 (2010), 2111-2120.
[9] R. M. El-Ashwah and M. K. Aouf, Differential subordination and superordination on p-valent meromorphic function defined by extended multiplier transformations, Europ. J. Pure Appl. Math., 3 (2010), no. 6, 1070-1085.
[10] A. Y. Lashin, On certain subclass of meromorphic functions associated with certain integral operators, Comput. Math. Appl., 59 (2010), no. 1, 524-531.
[11] S. S. Miller and P. T. Mocanu, Second order differential inequalities in the complex plane, J. Math. Anal. Appl., 65 (1978), 289-305.
[12] S. S. Miller and P. T. Mocanu, Differential Subordinations. Theory and Applications, Series on Monographs and Textbooks in Pure and Appl. Math. No. 225, Marcel Dekker Inc., New York, 2000.
[13] S. Ponnusamy, Convolution properties of some classes of meromorphic univalent functions, Proc. Indian Acad. Sci. (Math. Sci.), 103 (1993), no. 1, 73-89.
[14] V. Ravichandran, S. S. Kumar and K. G. Subramanian, Convolution conditions for spirallikeness and convex spirallikenesss of certain p-valent meromorphic functions, J. Ineq. Pure Appl. Math., 5 (2004), no. 1, Art. 11, 1-7.
[15] B. A. Uralegaddi and C. Somanatha, New criteria for meromorphic starlike univalent functions, Bull. Austral. Math. Soc., 43 (1991), 137-140.

Teodor Bulboacă:
Faculty of Mathematics and Computer Science, Babeş-Bolyai University, 400084 Cluj-Napoca, Romania
E-mail: bulboaca@math.ubbcluj.ro
Mohamed K. Aouf:
Department of Mathematics, Faculty of Science, Mansoura University, Mansoura 35516, Egypt
E-mail: mkaouf127@yahoo.com
Rabha M. El-Ashwah:
Department of Mathematics, Faculty of Science (Damietta Branch), Mansoura University, New Damietta 34517, Egypt
E-mail: r_elashwah@yahoo.com

